Imperfect Tense Exercise

Da persōnam imperātam, numerōrum singulāris et plūrālis, vōcum passīvī et actīvī, temporis praeteritī imperfectī, verbōrum sequentium.   “Amāre” exemplum datur.  (Give the person indicated, in the singular and plural numbers, active and passive voice, of the imperfect tense of the following verbs.  "Amāre" is given as an example.)
	
	Vōx Actīva
	Vōx Passīva

	
	sg
	pl
	sg
	pl

	amāre (3rd)
	amābat
	amābant
	amābātur
	amābantur

	ambulāre  (2nd)
	ambulābās
	ambulābātis
	ambulābāris
	ambulābāminī

	augēre  (1st)
	augēbam
	augēbāmus
	augēbar
	augēbāmur

	dormīre  (3rd)
	dormiēbat
	dormiēbant
	dormiēbātur
	dormiēbantur

	mittere   (2nd)
	mittēbās
	mittēbātis
	mittēbāris
	mittēbāminī

	accipere  (1st)
	accipiēbam
	accipiēbāmus
	accipiēbar
	accipiēbāmur


Now you try it:

	
	Vōx Actīva
	Vōx Passīva

	
	sg
	pl
	sg
	pl

	amāre (3rd)
	amābat
	amābant
	amābātur
	amābantur

	iactāre  (2nd)
	
	
	
	

	possidēre  (1st)
	
	
	
	

	reperīre  (3rd)
	
	
	
	

	iungere   (2nd)
	
	
	
	

	aspicere  (1st)
	
	
	
	


Note that there are a few simple steps to getting this right – 

· What is the vowel stem? –ā- for 1st, -ē- for 2nd & 3rd, -iē- for 3rd iō and 4th
· Add –ba- or –bā – depending on whether the –a- is made long or short by the following letters (the patterns are on pages 151-2 and 309-10)

· Add the personal endings:


Active: -m, -s, -t, -mus, -tis, -nt


Passive: -r, -ris, -tur, -mur, -minī, -ntur

